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OXEZIIY JlsAgst IR (3HSH)
112,000,000 * 1A/ 112,000
2 112,000
OXIE IT/SWEH Z AL 20,000,000& 13| 20,000
= 20,000
OSWI = HL XA X (220 H)
72,000,000 =14 72,000
HHLSAAH (ENS A D) 60,986 54,178 6,808
CIHASHH(EXSAD) 4,200 0 4,200
OIHASHU(EXSAD) 4,200 0 4,200
203 2R =&Y| 4,200 0 4,200
04 EN2HE LR F=EH] 4,200 0 4,200
ORNESYE gRFA| 350,000& x12& 4,200
JI2HH(EXES AL 56,786 54,178 2,608
I (EXNSA D) 56,786 54,178 2,608
201 dEt2AH| 24,146 23,458 688
01 AtR2t2| | 24,146 23,458 688
Oget=2H| 14,150
—JIZ2ANRES 100,000& * 17 1,700
—JI2d3AEEHI 150,000& *13] 150
— =S AR X228l 500, 000& *2CH 1,000
—=SAIJIEYH 150, 000& *20CH x4 3| 1,200
—=Z2AD| EH 330, 000& x2[H*23] 1,320
—=2AE2 X 20,000& 158 A %123 3,600
—mwAgle EY 110,000 10 x4 3] 440
—dIOIESIE JIECIX 237,000 *40H *53] 4,740
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